
MATHS

BOOKS - MAXIMUM PUBLICATION

INTEGRALS

Example

1. Integrate the following. 

Watch Video Solution

∫sinx sin 2x sin 3xdx

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Q6FPsnvZWCwL


2. Integrate the following. 

Watch Video Solution

∫sec2 x cos2 2xdx

3. Find 

Watch Video Solution

∫ exdx
2 + sin 2x

1 + cos 2x

4. Evaluate ∫
sec2 xdx

√tan2 x + 4

https://dl.doubtnut.com/l/_Q6FPsnvZWCwL
https://dl.doubtnut.com/l/_EA1O4djK1V1D
https://dl.doubtnut.com/l/_eaSR6KPuZcKj
https://dl.doubtnut.com/l/_DM4FsgMHGsfi


Watch Video Solution

5. Find the following integrals. 

Watch Video Solution

∫
0

dx

π

2 sinx

1 + cos2 x

6. Find the following integrals. 

Watch Video Solution

∫
1

0
xex

2
dx

https://dl.doubtnut.com/l/_DM4FsgMHGsfi
https://dl.doubtnut.com/l/_25wH1mn3R7ol
https://dl.doubtnut.com/l/_gMXhwX1L121a


7. Find the following integrals. 

Watch Video Solution

∫
0

√sinx cos5 xdx

π

2

8. Find the following integrals. 

Watch Video Solution

∫
2

0
x√x + 2dx

https://dl.doubtnut.com/l/_zg1fzWnt4OY0
https://dl.doubtnut.com/l/_LrXfENuiIp2V


9. Find the following integrals. 

Watch Video Solution

∫
0

√sinx cos xdx

π

2

10. Find the following integrals. 

Watch Video Solution

∫
0

dx

π

2 1

4 sin2 x + 5cos2 x

https://dl.doubtnut.com/l/_Z35cF7hJ5mUd
https://dl.doubtnut.com/l/_KE4m3tAJW6uO


11. If  is an odd function,then

A. 0

B. 1

C. 

D. 2a

Answer:

Watch Video Solution

f(x)

∫
a

−a

f(x) = ?

2∫
a

0
f(x)dx

https://dl.doubtnut.com/l/_nQKr2cmvtEQg
https://dl.doubtnut.com/l/_seVIubCnf2Jh


12. Evaluate 

Watch Video Solution

∫
−

sin99 x ⋅ cos100 xdx

π

2

π

2

13. Evaluate 

Watch Video Solution

∫
1

−1

e |x |dx

14. Show that  is an even function.cos2 x

https://dl.doubtnut.com/l/_seVIubCnf2Jh
https://dl.doubtnut.com/l/_YX79a3wiORZ8
https://dl.doubtnut.com/l/_HX4Ue943X8h8


Watch Video Solution

15. Evaluate 

Watch Video Solution

∫
−

cos2 xdx

π

4

π

4

16. Find the following integrals. 

Watch Video Solution

∫ dx
1

9x2 + 6x + 5

https://dl.doubtnut.com/l/_HX4Ue943X8h8
https://dl.doubtnut.com/l/_buSfnol8gAly
https://dl.doubtnut.com/l/_JIn6pMHfBYJc


17. Find the following integrals. 

Watch Video Solution

∫ dx
1

√7 − 6x − x2

18. Find the following integrals. 

Watch Video Solution

∫
0

dx

π

2 √sinx

√sinx + √cos x

https://dl.doubtnut.com/l/_OicSjsjBKc1n
https://dl.doubtnut.com/l/_UXP0JKHwRnXs


19. Find the following integrals. 

Watch Video Solution

∫
0

dx

π

2 sin5 x

sin5 x + cos5 x

20. Find the following integrals. 

Watch Video Solution

∫
2

0

x√2 − xdx

https://dl.doubtnut.com/l/_oHXXTc1UAbWq
https://dl.doubtnut.com/l/_dhwoLIBjmjNy


21. Find the following integrals. 

Watch Video Solution

∫
8

2
|x − 5|dx

22. Find the following integrals. 

Watch Video Solution

∫
5

−5

|x + 2|dx

https://dl.doubtnut.com/l/_FPXvyBWq9w9w
https://dl.doubtnut.com/l/_4Kv8tEeJYyFg


23. Find the following integrals. 

Watch Video Solution

∫ dx
1

3 + cos x

24. Find the following integrals. 

Watch Video Solution

∫ dx
2x

x2 + 3x + 2

https://dl.doubtnut.com/l/_3miXJjQoF7sc
https://dl.doubtnut.com/l/_ApOaVJA7EcS8


25. Find the following integrals. 

Watch Video Solution

∫ dx
x2 + x + 1

(x + 2)(x2 + 1)

26. Find the following integrals. 

Watch Video Solution

∫ dx
1

(x + 1)
2
− 4

https://dl.doubtnut.com/l/_Ggc2XM3uljMr
https://dl.doubtnut.com/l/_PlvEM5z0FdI9


27. Find the following integrals. 

Watch Video Solution

∫ dx
1

x(x3 + 1)

28. Find the following integrals. 

Watch Video Solution

∫e2x sin 3xdx

https://dl.doubtnut.com/l/_Y4l81oDQeEOa
https://dl.doubtnut.com/l/_wHGLIezNGDfb


29. Find the following integrals. 

Watch Video Solution

∫x sin−1 xdx

30. which of the following is the value of 

A. 

B. 

C. 

∫
dx

√a2 − x2

tan−1 + c
1

a

x

a

tan−1 + c
x

a

sin−1 + c
x

a

https://dl.doubtnut.com/l/_oNIXX42aeWuL
https://dl.doubtnut.com/l/_tKXCfuKkAmH0


D. 

Answer:

Watch Video Solution

sin−1 + c
1

a

x

a

31. Evaluate 

Watch Video Solution

∫ dx
2x

x2 + 3x + 2

32. Choose the correct answer from the 

bracket. 

https://dl.doubtnut.com/l/_tKXCfuKkAmH0
https://dl.doubtnut.com/l/_pnrErZgSkDYc
https://dl.doubtnut.com/l/_Iml4yZGdDztL


=----

Watch Video Solution

∫exdx

(e2x + c, ex + c, e−x + c, e−2x + c)

33. Evaluate 

Watch Video Solution

∫ex sinxdx

34. 

A. 

f(x)∫g(x)dx − ∫(f' (x)∫g(x)dx)dx

∫f' (x)g(x)dx

https://dl.doubtnut.com/l/_Iml4yZGdDztL
https://dl.doubtnut.com/l/_J3U7PDNx16Bi
https://dl.doubtnut.com/l/_togy6p5FWoRX


B. 

C. 

D. 

Answer:

Watch Video Solution

∫f(x)g' (x)dx

∫ dx
f(x)

g(x)

∫f(x)g(x)dx

35. Integrate w.r.to x.

Watch Video Solution

sin−1√
x

a + x

https://dl.doubtnut.com/l/_togy6p5FWoRX
https://dl.doubtnut.com/l/_XvrtLuuFoKfg
https://dl.doubtnut.com/l/_7ECePd9Lnkgw


36. Match the following. 

Watch Video Solution

37. Evaluate 

Watch Video Solution

∫ dx
x

√x + a + √x + b

https://dl.doubtnut.com/l/_7ECePd9Lnkgw
https://dl.doubtnut.com/l/_elN2Q3aW1BGq


38. Match the following. 

Watch Video Solution

https://dl.doubtnut.com/l/_elN2Q3aW1BGq
https://dl.doubtnut.com/l/_4aUqa3Bp3zYz


39. Consider the integral I=  


what substitution can be given for simplifying 

the above integral

Watch Video Solution

∫ dx
x sin−1 x

√1 − x2

40. Evaluate the integral I=

Watch Video Solution

∫ dx
x sin−1

x

√1 − x2

https://dl.doubtnut.com/l/_fO6YQMEwrSCN
https://dl.doubtnut.com/l/_J51xWDzyOZ5S


41. Consider the integral I=

Evaluate I.

Watch Video Solution

∫ dx
x sin−1 x

√1 − x2

42. Evaluate 

Watch Video Solution

∫
0

log(tanx)dx

π

2

43. Find the following integrals. 

∫ dx
sec2 x

cos ec2x

https://dl.doubtnut.com/l/_oM2Sq2qFlemD
https://dl.doubtnut.com/l/_pQLx2QIbKeiC
https://dl.doubtnut.com/l/_pPfMeEsoL0pG


Watch Video Solution

44. Find the following integrals 

Watch Video Solution

∫ dx
1

x2 − 6x + 13

https://dl.doubtnut.com/l/_pPfMeEsoL0pG
https://dl.doubtnut.com/l/_OZHlRiIlkLko


45. Match the following.Justify your answer 

Watch Video Solution

46.  =∫sin 2xdx

https://dl.doubtnut.com/l/_4Zixpd87T3xj
https://dl.doubtnut.com/l/_Kvdg4cekLPHG


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2 cos x + c

−2sinx + c

+ c
cos 2x

2

− + c
cos 2x

2

47. (i)Resolve into partial 

fractions. 

x2 + 1

x2 − 5x + 6

https://dl.doubtnut.com/l/_Kvdg4cekLPHG
https://dl.doubtnut.com/l/_VO9eQOxrAVwY


(ii)Hence evaluate 

Watch Video Solution

∫
x2 + 1

x2 − 5x + 6

48. Evaluate.  as a limit of sum

Watch Video Solution

∫
4

0

xdx

49. Define the real valued function 

Watch Video Solution

f(x) = ∣∣x
2 + 2x − 3∣∣

https://dl.doubtnut.com/l/_VO9eQOxrAVwY
https://dl.doubtnut.com/l/_Z7lJaKHCPCD0
https://dl.doubtnut.com/l/_BoOoypGqAHaq


50. Evaluate 

Watch Video Solution

∫
2

0

∣∣x
2 + 2x − 3∣∣dx

51. Consider the function

 


define trhe function `f(x) in the interval 

[-2,1]

Watch Video Solution

f(x) = |x| + |x + 1|

https://dl.doubtnut.com/l/_1vhrwwP1Makq
https://dl.doubtnut.com/l/_vLJ5ZE4DBOpo


52. Consider the function

 


Find the integral 

Watch Video Solution

f(x) = |x| + |x + 1|

∫
1

−2
f(x)dx

53. Evaluate 

Watch Video Solution

∫ dx

π

3

π

6

dx

1 + √tanx

https://dl.doubtnut.com/l/_yiHg2xDBVNPB
https://dl.doubtnut.com/l/_z82ljyic8uWC


54. Fill in the blanks. 

=---

Watch Video Solution

∫tanxdx

55. Fill in the blanks 

=---

Watch Video Solution

∫cos xdx

https://dl.doubtnut.com/l/_O6veIuCIXb18
https://dl.doubtnut.com/l/_6SIkLngghejY


56. Fill in the blanks 

=---

Watch Video Solution

∫ dx
1

x

57. Evaluate 

Watch Video Solution

∫sin3 x cos2 xdx

58. Find the following integrals. 

∫(3x − 2)√x2 + x + 1dx

https://dl.doubtnut.com/l/_dRxGd3N5hfcx
https://dl.doubtnut.com/l/_sTjH2X1uNfun
https://dl.doubtnut.com/l/_1cqFXv7xjhFu


Watch Video Solution

59. Find the following integrals. 

Watch Video Solution

∫ dx
2x − 3

x2 + 3x − 18

60. Find the following integrals. 

Watch Video Solution

∫ dx
5x + 2

1 + 2x + 3x2

https://dl.doubtnut.com/l/_1cqFXv7xjhFu
https://dl.doubtnut.com/l/_4Iru0qtGHvgR
https://dl.doubtnut.com/l/_OzMKCHoMwesN
https://dl.doubtnut.com/l/_4tpVkOiHVS6M


61. Find the following integral. 

Watch Video Solution

∫ dx
5x + 3

√x2 + 4x + 10

62. Consider the expression  


Split it into partial fraction.

Watch Video Solution

1

x3 − 1

https://dl.doubtnut.com/l/_4tpVkOiHVS6M
https://dl.doubtnut.com/l/_FBM4Qu3pyFjf


63. Consider the expression  


Split it into partial fraction.

Watch Video Solution

1

x3 − 1

64. Match the following 

https://dl.doubtnut.com/l/_3uYdPmbz4cND
https://dl.doubtnut.com/l/_vBYe5eNqOdia


Watch Video Solution

65. consider the function  


Evaluate 

Watch Video Solution

f(x) =
x4

x + 1

∫f(x)dx

66. (i)Evaluate the  as the limit of a 


sum. 

(ii) Hence evaluate 

Watch Video Solution

∫
2

0
x2dx

∫
2

−2
x2dx

https://dl.doubtnut.com/l/_vBYe5eNqOdia
https://dl.doubtnut.com/l/_efIsXFgIGd6H
https://dl.doubtnut.com/l/_SDl0AtODazBN


67. Find 

Watch Video Solution

∫√tanxdx

68. Match the following 

https://dl.doubtnut.com/l/_SDl0AtODazBN
https://dl.doubtnut.com/l/_Y4b8hTNvemSB
https://dl.doubtnut.com/l/_mg2n7VNHPrFL


Watch Video Solution

69. Integrate 

Watch Video Solution

sec2 x

5 tan2 x − 12tanx + 4

70. Evaluate 

Watch Video Solution

∫
1

0
√xdx

https://dl.doubtnut.com/l/_mg2n7VNHPrFL
https://dl.doubtnut.com/l/_SPY47q8rVspS
https://dl.doubtnut.com/l/_RtiUe7Szn3ge


71. (i)If ,find the

value of a. 

(ii)Hence find 

Watch Video Solution

∫
a

0
√xdx = 2a∫

0

sin3 xdx

π

2

∫
a+1

a

xdx

72. Let  be a function,then =?

A. 

B. 

C. 

f(x) ∫
a

0
f(x)dx

2∫
a

0

f(x − a)dx

∫
a

0

f(a − x)dx

f(a)

https://dl.doubtnut.com/l/_VMBm0O3NxJwH
https://dl.doubtnut.com/l/_kiX72AiTkSPl


D. 

Answer:

Watch Video Solution

2∫
a

0
f(a − x)dx

73. Evaluate 

Watch Video Solution

∫
2

0
dx

√x

√x + √2 − x

74. ∫
0

dx

π

2 sinx

sinx + cos x

https://dl.doubtnut.com/l/_kiX72AiTkSPl
https://dl.doubtnut.com/l/_HQp0LRqcgmF6
https://dl.doubtnut.com/l/_ERhVuG3FBrXE


Watch Video Solution

75. Find the following integrals 

Watch Video Solution

∫
2ex

e3x − 6e2x + 11ex − 6

76. Find the following integrals 

Watch Video Solution

∫ dx
(3 sinx − 2)cos x

5 − cos2 x − 4sinx

https://dl.doubtnut.com/l/_ERhVuG3FBrXE
https://dl.doubtnut.com/l/_laXIKaESCtjl
https://dl.doubtnut.com/l/_d6sN44eSCslm
https://dl.doubtnut.com/l/_fbaoPngk1Nwa


77. Find 

Watch Video Solution

∫ dx
1

x2 + a2

78. show that 

Watch Video Solution

3x + 1 = (4x − 2) +
3

4

5

2

79. Evaluate 

Watch Video Solution

∫ dx
3x + 1

2x2 − 2x + 3

https://dl.doubtnut.com/l/_fbaoPngk1Nwa
https://dl.doubtnut.com/l/_4eXHUELGUTtJ
https://dl.doubtnut.com/l/_h9iw6CdYm2kD
https://dl.doubtnut.com/l/_d4Et9BHW0FUV


80. Find the Following integrals. 

Watch Video Solution

∫x2e2xdx

81. Find the Following integrals. 

Watch Video Solution

∫ex sinxdx

82. ∫ex secx(1 + tanx)dx = ......

https://dl.doubtnut.com/l/_d4Et9BHW0FUV
https://dl.doubtnut.com/l/_L9xp7QwYY1an
https://dl.doubtnut.com/l/_oMNCyPHItBCV


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ex cos x + c

ex secx + c

ex tanx + c

ex sinx + c

83. Find 

Watch Video Solution

∫sin 2x cos 3xdx

https://dl.doubtnut.com/l/_oMNCyPHItBCV
https://dl.doubtnut.com/l/_zhxSorFOXVt8


84. Find the following integrals. 

Watch Video Solution

∫ dx
1

(x + 1)(x + 2)

85. Find the following integrals. 

Watch Video Solution

∫ dx
2x − 1

(x − 1)(x + 2)2

https://dl.doubtnut.com/l/_zhxSorFOXVt8
https://dl.doubtnut.com/l/_gwwAeXopZIod
https://dl.doubtnut.com/l/_26cW0l1UNxg2


86. Consider the integral

 


Express 

Watch Video Solution

I = ∫
π

0

dx
x sinx

1 + cos2 x

I = ∫
π

0
dx

π

2

sinx

1 + cos2 x

87. Consider the integral

 


Show that 

Watch Video Solution

I = ∫
π

0
dx

x sinx

1 + cos2 x

I =
π2

4

https://dl.doubtnut.com/l/_pqIyQ8AphzWR
https://dl.doubtnut.com/l/_3xxnwy07IB9a
https://dl.doubtnut.com/l/_vVHnELuoVykq


88. Evaluate: 

Watch Video Solution

∫
3

2
dx

x

x2 + 1

89. Evaluate:

Watch Video Solution

∫
π

0
dx

x

1 + sinx

90. Find  as the limit of a sum.

Watch Video Solution

∫
1

0

(2x + 3)dx

https://dl.doubtnut.com/l/_vVHnELuoVykq
https://dl.doubtnut.com/l/_L65mhlujiwln
https://dl.doubtnut.com/l/_X1hDOXExfhXN


91. Evaluate

Watch Video Solution

∫
π

0

log(1 + cos x)dx

92. Find  as limit of a sum.

Watch Video Solution

∫
5

0
(x + 1)dx

93. Evaluate  as the limit of a sum.

Watch Video Solution

∫
4

0
x2dx

https://dl.doubtnut.com/l/_6UEX418bRBvo
https://dl.doubtnut.com/l/_Qoa7jRTpt479
https://dl.doubtnut.com/l/_2vPMaupF733c


94. Fill in the blanks

Watch Video Solution

∫ dx = − − −
1

x

95. Evaluate 

Watch Video Solution

∫ dx
5x + 1

x2 − 2x − 35

96. Integrate with respect to x.

Watch Video Solution

√x2 + 4x + 8

https://dl.doubtnut.com/l/_DDOjNBpflwCj
https://dl.doubtnut.com/l/_MWvHqFcY8l4v
https://dl.doubtnut.com/l/_gK21wyl7cDjm


97. Evaluate 

Watch Video Solution

∫ − dx
cos ec2x

√cot2 x + 9

98. Evaluate 

Watch Video Solution

∫(cos−1 x)
2
dx

99. Evaluate 

Watch Video Solution

∫
π

0
dx

x sinx

1 + cos2 x

https://dl.doubtnut.com/l/_D3f6bxGJVwpg
https://dl.doubtnut.com/l/_2U1FIGv4gAwW
https://dl.doubtnut.com/l/_5Tt5aX9E6KCc


100. Evaluate  as limit of a sum.

Watch Video Solution

∫
2

0
exdx

101. Find 

Watch Video Solution

∫cot xdx

102. Evaluate the integrals 

Watch Video Solution

∫sin 2x cos 4xdx

https://dl.doubtnut.com/l/_tSkUo36KROSN
https://dl.doubtnut.com/l/_gRjHAFgIaQxC
https://dl.doubtnut.com/l/_fzcRRjGRgSew


103. Evaluate the integrals 

Watch Video Solution

∫ dx
x

(x + 1)(x + 2)

104. Evaluate  as the limit of a sum.

Watch Video Solution

∫
1

0
xdx

105. Evaluate ∫
1

0

x(1 − x)ndx

https://dl.doubtnut.com/l/_fzcRRjGRgSew
https://dl.doubtnut.com/l/_CvldRAkNHAGK
https://dl.doubtnut.com/l/_vgZWfJppGDSu
https://dl.doubtnut.com/l/_z8YGvuBJMAy1


Watch Video Solution

106. Evaluate 

Watch Video Solution

∫
2

1
dx

1

x(1 + logx)2

107. Evaluate  as the limit of a

sum.

Watch Video Solution

∫
3

0
(2x2 + 3)dx

https://dl.doubtnut.com/l/_z8YGvuBJMAy1
https://dl.doubtnut.com/l/_y0vFVKLQg2YH
https://dl.doubtnut.com/l/_1Q9wKIpHTkFp


108. What is 

Watch Video Solution

∫ dx = ?
1

9 + x2

109. Evaluate the integrals 

Watch Video Solution

∫ dx
1

1 + x + x2 + x3

110. Evaluate , 


Where 

∫
3

0
f(x)dx

f(x) = {
x + 3 0 ≤ x ≤ 2

3x 2 ≤ x ≤ 3

https://dl.doubtnut.com/l/_7BPjEgcv7S3A
https://dl.doubtnut.com/l/_Y6CIrEruCbUm
https://dl.doubtnut.com/l/_CyYBSYZ0qSI6


Watch Video Solution

111. Prove that 

. 


Find the value of 

Watch Video Solution

∫
1

0
log( )dx = ∫

1

0
log( )dx

x

1 − x

1 − x

x

∫
1

0
log( )dx

x

1 − x

112. Find 

Watch Video Solution

∫cot xdx = ……

https://dl.doubtnut.com/l/_CyYBSYZ0qSI6
https://dl.doubtnut.com/l/_EaAjPMDvKuZM
https://dl.doubtnut.com/l/_nuyiBWzPslib


113. Find 

Watch Video Solution

∫x logxdx

114. Find 

Watch Video Solution

∫ dx
x − 1

(x − 2)(x − 3)

115. Evaluate 

Watch Video Solution

∫ dx
x + 3

√5 − 4x − x2

https://dl.doubtnut.com/l/_csJ8xwBr78iw
https://dl.doubtnut.com/l/_pu10936j34CJ
https://dl.doubtnut.com/l/_LJwz3vOGkYZq


116. Evaluate 

Watch Video Solution

∫

π

3

π

6

dx

1 + √tanx

117. Evaluate 

Watch Video Solution

∫x2 tan−1 xdx

https://dl.doubtnut.com/l/_LJwz3vOGkYZq
https://dl.doubtnut.com/l/_zXoLMFmac3DV
https://dl.doubtnut.com/l/_clvwyVgytVQ9


118. Evaluate 

Watch Video Solution

∫
2

−1

∣∣x
3 − x∣∣dx

119. Evaluate. 

Watch Video Solution

∫
0

log(1 + tanx)dx

π

4

120. The value of 

Watch Video Solution

∫ cos xdx

π

2

− π

2

https://dl.doubtnut.com/l/_miwmihu9FsVy
https://dl.doubtnut.com/l/_hTaofc7MxFBY
https://dl.doubtnut.com/l/_1J199OYn8LWM


121. Prove that

Watch Video Solution

∫
π

0
dx =

x

a2 cos2 x + b2 sin2 x

π2

2ab

122. 

Watch Video Solution

∫ dx = .......
1

x2 + a2

123. Find ∫ dx
1

9x2 + 6x + 5

https://dl.doubtnut.com/l/_1J199OYn8LWM
https://dl.doubtnut.com/l/_Ror9hRC8gQx3
https://dl.doubtnut.com/l/_MM5U7xe3XF9U
https://dl.doubtnut.com/l/_h1xyG873qnqg


Watch Video Solution

124. Find 

Watch Video Solution

∫ dx
x

(x − 1)2(x + 2)

125. Integrate the following 

Watch Video Solution

x − 1

x + 1

https://dl.doubtnut.com/l/_h1xyG873qnqg
https://dl.doubtnut.com/l/_AFc2nMvbjYOv
https://dl.doubtnut.com/l/_RVqeRxduSlnJ


126. Integrate the following 

Watch Video Solution

sinx

sin(x − a)

127. Integrate the following 

Watch Video Solution

1

√3 − 2x − x2

128. Prove that 

Watch Video Solution

∫cos2 xdx = + + c
x

2

sin 2x

4

https://dl.doubtnut.com/l/_iV3Zhal6OdRa
https://dl.doubtnut.com/l/_Ua5DKWGHOMTo
https://dl.doubtnut.com/l/_orDqSZPiIrhy


129. Find 

Watch Video Solution

∫ dx
1

√2x − x2

130. Find 

Watch Video Solution

∫x cos xdx

131. Find the following: 

Watch Video Solution

∫ dx
1

x(x7 + 1)

https://dl.doubtnut.com/l/_orDqSZPiIrhy
https://dl.doubtnut.com/l/_bgapOWO0dk5A
https://dl.doubtnut.com/l/_cAWCgU8JBtkh
https://dl.doubtnut.com/l/_hEnko0cPocnY


132. Find the following: 

Watch Video Solution

∫
4

1
|x − 2|dx

133. Find 

Watch Video Solution

∫
0

log sinxdx

π

2

https://dl.doubtnut.com/l/_hEnko0cPocnY
https://dl.doubtnut.com/l/_Zp7u0GeSLZLh
https://dl.doubtnut.com/l/_FqzJ5JsGRbCR


134. Find the following: 

Watch Video Solution

∫cot x log(sinx)dx

135. Find the following: 

Watch Video Solution

∫ dx
1

x2 + 2x + 2

https://dl.doubtnut.com/l/_9UWudPsBpJBH
https://dl.doubtnut.com/l/_CRXxIIS3spdv

